Math 1A (9:30am — 10:20am) What month is your birthday ?

Quiz 4 What are the first 2 digits of your address ? SN

Fri Feb 5, 2010 What are the last 2 digits of your zip code ? L R
What are the last 2 digits of your social security number ?

SCORE: _ /20 POINTS [IF YOU DO NOT HAVE A SOCIAL SECURITY NUMBER,

USE YOUR STUDENT ID NUMBER]

NO CALCULATORS ALLOWED

The amount you spend on light bulbs each year depends on how many hours a day you use them. Let 4 = f (1), SCORE: __ /2 POINTS

where A is the amount spent (in dollars), and u is the daily usage of the lightbulb (in hours). Give the practical meaning, including units, for
the statement f'(5) =10.
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State the Intermediate Value Theorem. SCORE: __ /1 POINTS
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Let f(x)= # , SCORE: __ /5 POINTS

[a] Find f'(x).SIMPLIFY YOUR ANSWER.
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[b] Are there any points on the curve y = f(x) where the tangent line is horizontal ? If so, find them. If not, explain briefly why not.
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Using the definition of the derivative, find the derwatwe of f(x)= SCORE: ___ /3 POINTS
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Sketch the derivative of the following function on the s.g_n.],e set of axes. SCORE: ___ /3 POINTS

Find the requested derivatives. g _ SCORE: ___ /6 POINTS

2
[a] If £(x)=(e®-2x> +3x*)5*,find £'(0). [b] If f(z)=(4j'ft)  find f"'(¢).
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